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Current asset / current liability
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Current Ratio Current Assets
Formula = Current Liability
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Quick Ratio -2
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Quick Acid Ratio = Receivable + Cash & Cash equivalent (CEE) + marketable securities /
Current Liability
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Cash Ratio -3
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Cash Ratio = Cash & Cash Equivalent CCE / Current Liability
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Defensive Interval Ratio (DIR) -4
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Defensive Interval Ratio = Receivables + Cash + marketable securities / Daily
Expenditures
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Daily Cash Expenditure = (Total Operating Expenditure — Non cash expenditure)/365
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COGS / Cost of services COS is $ 1,700,000

G&A Expenses are $ 1000,000



Sales & Marketing Expenses are $ 300,000
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Daily cash operating expenditures = cash operating expenditures / total days in the period

Total is $ 3M / 365 = $ 8219.17 per day

Defensive Interval Ratio = Receivables + Cash + marketable securities / Daily Expenditures
Defensive Interval Ratio = 600,000 + 100,000 + 300,000 / 8219.17 = 121.66 Day
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Cash operating expenditures = Cost of sales + Admin expenses + Selling expenses + other

operating expenses — non-cash operating expenditures.

Note : Non-cash expenses must be excluded; they are not cash out
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TIE = Earnings before Interest and Taxes / Interests Expenses
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Times Interest
S EBIT
Earned Ratio = B
Formula

Total Interest Expense
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CAPEX to Operating Cash Ratio -6
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CAPEX to Operating Cash flow = Operating Cash Flow / Capital Expenditure
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FACEBOOK, INC.
CONDENSED CONSOLIDATED STATEMENTS OF INCOME

(In millions, except for per share amounts)

(Unaudited) Three Months
Mar 31, Jun 30, Sep30,
2018 2018 2018
Rewvenue $ 11,966 $ 13231 $ 13,727
Costs and expenses:
Cost of revenue 1,927 2,214 2,418
Research and development 2,238 2,523 2,657
Marketing and sales 1,595 1,855 1,928
General and administrative 757 776 943
Total costs and expenses 6,517 7,368 7,946
Income from operations 5,449 5,863 5,781

G 32 4 anal il () & 5 Aipme ALl Jin Uy jeme Conall i diad A5l el palai i S 0 Ll
Al Ui (S Aol
Al 8 iy e 3a3 Condl Gy jlome JS6 aaa i Aclial Cangd ) 5 G saW) S 5 aa JSN 13 | )38 el
o ALl iy 5 . il gl B iy bl Alew ) i lall 138 (e GEail) A S Sa sl )~
s sl Jlae 8 Buaal) Cilatial) g Jalatl

Operating Cash Flow Ratio -7
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Operating Cash flow Ratio = Operating cash flow / current liability
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Profitability Ratio



chh)\dﬁ}ﬂtﬁﬂhu\d‘)\yd\}d)mmu.\cw;ﬂ\k@a\m\}Kﬂ\ﬁ)ﬁdwmbb))m‘\:\m)ng_xmug.ﬁ
Shareholders (iealuall

4slal) 348 e clailall Return on Equity -1
Asle 58 o AS Al ALl (Hla dady
Return on Equity ROE = Net income / Shareholders’ Equity
Aeliall a3 Auliall IS 5l o s L 40 aal) ASL) Bsin e ailall dpusd aladind (S
Return on Assets ROA Js<a¥) e clailad) -2
oLy 5) i) LY aiema olis OS5 A8l AS glaall Jga¥) 3 5 paTianall 5 Alensyall JlsaY) e Aiaiall clailal)

DA e Glaile Gaail bl 0 S S ST jata
Db WS Al

eV Jea) / mll gila = Jsa¥) e dilal) o
ROA = Net Income / Total Assets

e gibeadl Jio G4 J poall b Mo Uil ) grbing s pns 1 5 243K Allandl alin S, (o) LS Al
b S it G Y ) s SV bl i (oAl Jlael 2l g8 Jpa) e sile A e (oanta
A )
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ROCE = EBIT / Total investment or capital employed
Total investment = working capital + long term assets

Capital employed = Total assets — current liabilities
Working capital = current asset — current liabilities
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Gross Profit Margin = Gross Profit / Net revenue or Net sales
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Debt to Equity = Total liabilities / Shareholders’ Equity
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Leverage Ratio_ Total Debt
Formula Total Equity
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Shareholder’s Equity
Total Asset
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AR Turnover = Sales / Average Receivable
Average Receivable = AR ending balance + AR opening balance / 2

Accounts Receivable Days s3al Juaal all 23 -2

Accounts Receivable Days = Number of days at period / Accounts Receivable
Turnover Ratio
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Inventory Turnover Ratio Gyjaell luge Jaa -3
Inventory Turnover = Cost of Goods Sold / Average Inventory

Average Inventory = Inventory beginning balance + Ending balance / 2
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Inventory Turnover Days = Number of days at period / Inventory Turnover Ratio
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